EAC Certification

Sample Short-Answer Questions for the Copy Editing Test
The Copy Editing test consists of short-answer questions (about 1/3) and a passage (2/3). The following are some of the types of short-answer question you might encounter. On the actual paper, you would be given sufficient space to answer the question. See the Certification Study Guide and Exemplars, Volume 3: Copy Editing which will be published in early summer.
1.
Which of the following footnotes is in the correct format for a publication in the humanities that uses a notes and bibliography style of documentation?

(a)
Billingsley, Robert. Drug Use in Lower Manhattan. New York: Macmillan, 1968.

(b)
Robert Billingsley, Drug Use in Lower Manhattan (New York: Macmillan, 1968), 711–712.

(c)
Drug use in lower Manhattan by R. Billingsley. Macmillan, New York, 1968.

(d)
Billingsley, Robert; Drug Use in Lower Manhattan; pp. 711–712. (Macmillan, New York.)

2.
If you were developing a style sheet for a biography of the current premiers of the provinces, which of the following would you NOT include?

(a)
How to treat non-English terms. 

(b)
How to capitalize titles of government ministers.

(c)
How to punctuate lists. 

(d)
How to eliminate jargon. 

For questions 3 to 5, name the error(s) in each sentence and then edit or rewrite the sentence to correct the error(s), using accepted copy editing symbols.

3.
Migrating species included warblers, sparrows, and other songbirds, shorebirds including least and solitary sandpipers, hawks, and mallards, teals and other ducks.

4.
From June 15th to July 3, 2006 the attorney generals reviewed $0.3 million dollars in spending on renovating the court house. 

5.
Lying the fabric on a flat surface, the sequins are more easily applied.

Canadianize questions 6 to 8 (if necessary) (taken from U.S. publications).

6.
He flung himself upon his horse and rode madly off in all directions at 20 miles an hour. (apologies to Stephen Leacock)

7.
The experiment was done at a temperature of 40 below. The reaction generated enough heat to raise the temperature to 20 above.

8.
“Hey Joe! I need 24 8’ 2(4s and four sheets of 5/8” plywood!”

Passage for questions 9 and 10

Approximately 90% of infants infected with hepatitis B virus (HBV) will progress to chronic infection, with the possible later development of cirrhosis of the liver or hepatocellular carcinoma. In Canada, all pregnant women should be screened for HBV infection. If a mother is hepatitis B surface antigen positive, e.g. infectious, then the infant should receive post-exposure prophylaxis at birth. 

9.
Choose the best revision of the first underlined passage.

(a)
with the possible or later development of cirrhosis of the liver or hepatocellular carcinoma. 

(b)
and may later develop cirrhosis of the liver or hepatocellular carcinoma. 

(c)
along with the possible development of cirrhosis of the liver or hepatocellular carcinoma.

(d)
with the possibility of developing cirrhosis of the liver or hepatocellular carcinoma later.

10.
Choose the correct substitution for the second underlined passage.
(a)
If a mother is hepatitis B surface antigen positive (e.g., infectious), then the infant should receive post-exposure prophylaxis at birth. 

(b)
If a mother is hepatitis B surface antigen positive, then the infant should receive post-exposure prophylaxis at birth.

(c)
If a mother is hepatitis B surface antigen positive (i.e., infectious), then the infant should receive post-exposure prophylaxis at birth.

(d)
If a mother is hepatitis B surface antigen positive, for example, then the infant should receive post-exposure prophylaxis at birth.

Answers and Standards Addressed

1.
Which of the following footnotes is in the correct format for a publication in the humanities that uses a notes and bibliography style of documentation?

Correct answer: (b)
Robert Billingsley, Drug Use in Lower Manhattan (New York: Macmillan, 1968), 711–712.

In accordance with:

Standard B2
Ensure that sources are acknowledged in a form appropriate to the publication.

ii. Apply current styles sensibly and without pedantry to bibliographies, in-text references, and footnotes/endnotes.

2.
If you were developing a style sheet for a biography of the current premiers of the provinces, which of the following would you NOT include?

Correct answer: (d) 
How to eliminate jargon.
In accordance with:

Standard B7
 Develop a style sheet; follow one that is provided.

i. Use common practices and apply industry/house conventions and preferences for 

· the use of italics, roman, boldface, underlining, caps, and small caps 

· metric versus imperial measurements 

· spelling and punctuation styles 

· abbreviations and symbols 

· technical or trade terms

For questions 3 to 5, name the error(s) in each sentence and then edit or rewrite the sentence to correct the error(s), using accepted copy editing symbols.

3.
Migrating species included warblers, sparrows, and other songbirds, shorebirds including least and solitary sandpipers, hawks, and mallards, teals and other ducks.

Error: incorrect punctuation of a complex series

In accordance with:

Standard B1 
Identify and correct errors in spelling, usage, grammar, punctuation, and style

1d. Punctuation

ii. Use the full range of punctuation marks to achieve clarity (e.g., in a complex series in which the items themselves include punctuation).

Possible correct answer: Migrating species included warblers, sparrows, and other songbirds; shorebirds, including least and solitary sandpipers; hawks; and mallards, teals, and other ducks.
[Markers: Do not deduct points if a candidate capitalizes the bird names.] 
4.
From June 15th to July 3, 2006 the attorney generals reviewed $0.3 million dollars in spending on renovating the court house. 

Error: inconsistent use of dates; readability of large number; repeated use of symbol and word, plural of attorneys general.
In accordance with:

Standard B1 
Identify and correct errors in spelling, usage, grammar, punctuation, and style

1e. Mechanics

Establish and maintain consistent patterns within each manuscript for 

· arabic, spelled-out, and roman numerals 

· dates, addresses, telephone numbers, Web addresses, and so on

Possible correct answer: From June 15 to July 3, 2006, the attorneys general reviewed $300,000 in spending on renovating the court house.

5.
Lying the fabric on a flat surface, the sequins are more easily applied.
Error: dangling participle and weak construction; incorrect use of “lying”
In accordance with:

Standard B1 
Identify and correct errors in spelling, usage, grammar, punctuation, and style

1c. Grammar and Syntax

Recognize and correct such common problems as 

· dangling participles and misplaced modifiers 

· weak sentence constructions 

and
1b. Diction

i. Recognize and correct common mistakes in usage.

Possible correct answer: Laying the fabric on a flat surface makes it easier to apply the sequins.

Canadianize questions 6 to 8 (if necessary) (taken from U.S. publications).

6.
He flung himself upon his horse and rode madly off in all directions at 20 miles an hour. 
Although 20 miles = 32.2 km, both the original number and the number you convert it to should have the same degree of precision. The number 20 is not very precise here, so you round off 32.3 km to arrive at 30. 

Possible correct answer: He flung himself upon his horse and rode madly off in all directions at 30 kilometres an hour.

7.
The experiment was done at a temperature of 40 below. The reaction generated enough heat to raise the temperature to 20 above.
Celsius temperatures below zero are expressed as “minus xx(” rather than “xx( below.” At 40 below Fahrenheit and (40(C, the two temperature scales cross: (40(F = (40(C.

To convert 20(F to Celsius, subtract it from the freezing point on the Fahrenheit scale (32() (32 – 20 = 12). Multiply 12 by 5/9 to get 6.667 and round to 7. Because this number is below the freezing point (0(), it is a negative number ((7().

Possible correct answer: The experiment was done at a temperature of (40(C. The reaction generated enough heat to raise the temperature to (7(C.

8.
“Hey Joe! I need 24 8’ 2(4s and 4 sheets of 5/8” plywood!”
The building industry still uses Imperial measurements, so the numbers in this sentence don’t need conversion. However, the juxtaposition of two numbers (24 and 8′) can confuse the reader. Most style guides suggest that one of the two numbers be spelled out. Also, the Imperial system uses non-curly quote marks for feet and inches.

Possible correct answer: I need 24 eight-foot 2(4s and four sheets of 5/8″ plywood! (Note: “eight-foot” rather than “eight′.”) 

In accordance with:

Standard B3
In both text and art, check facts that fall within the realm of general knowledge; ascertain the mathematical accuracy of numerical material; and ensure internal consistency. 

3. Numeracy

ii. Perform metric/imperial conversions correctly and consistently, in appropriate units and to an appropriate degree of precision.

Passage for questions 9 and 10

Approximately 90% of infants infected with hepatitis B virus (HBV) will progress to chronic infection, with the possible later development of cirrhosis of the liver or hepatocellular carcinoma. In Canada, all pregnant women should be screened for HBV infection. If a mother is hepatitis B surface antigen positive, e.g. infectious, then the infant should receive post-exposure prophylaxis at birth. 

9.
Choose the best revision of the first underlined passage.

Correct answer: (b)
and may later develop cirrhosis of the liver or hepatocellular carcinoma.
In accordance with:

Standard B1 
Identify and correct errors in spelling, usage, grammar, punctuation, and style

1c. Grammar and Syntax

Recognize and correct such common problems as 

· faulty parallelism 

· weak sentence constructions 

10.
Choose the correct substitution for the second underlined passage.
Correct answer: (c)
If a mother is hepatitis B surface antigen positive (i.e., infectious), then the infant should receive post-exposure prophylaxis at birth.
In accordance with:

Standard B1 
Identify and correct errors in spelling, usage, grammar, punctuation, and style

1b. Diction

i.
Recognize and correct common mistakes in usage.

ii.
Demonstrate an adequate vocabulary to substitute words that more accurately convey the author's intent, yet have sufficient sensitivity not to make unnecessary changes.
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